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Look around at the posters of triangles we created. Which posters show
triangles that are all the same? Which posters show triangles that are
different? Based on this, list what you need toknow about a triangle in
order to prove they are congruent (for example, one side, a side and an
adjacent angle, all three sides, a side an an opposite angle, etc.)
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List the six corresponding énrfs of the congruent triangles, Mark the congruences on the figure,
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The Equatlon ofa C;rcle

Circle:
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Given : Circle €
Let {h,k) be the center of circle C.
Let (x, y) be any point on the circle

Let r = the radius of circle c
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The standard form or center-radius form equation of a circle:

(x-h)*

rly-k?=

Where (h, k) is the center and r is the radius.
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1. Write an equatlon Wlth the center of (13, -12) and radius of 4 :

Examples of graphing equatlons
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Completing the Square Example Problem

Complete the square to find the center and the radius of the circle.
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For each shape or angle below, draw a diagram and state all you know about the angles, sides and/or dlagonals ofthe
‘ shape.
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1 gram = 1000 milligrams

1 liter = 1000 cubic centimeters

v | 1 meter = 100 centimeters
Z | 1 kilometer = 1000 meters 1 kilogram = 1000 grams
=
LI | 1 yard = 3 feet 1 pound = 16 ounces 1 cup = 8 fluid ounces
o | 1 mile = 5280 feet 1 ton = 2000 pounds 1 pint = 2 cups
5 | 1 hour = 60 minutes 1 quart = 2 pints
= | 1 minute = 60 seconds 1 gallon = 4 quarts
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SURFACE AREA (SA) and VOLUME (V)
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1 metro = 100 centimetros

1 gramo = 1000 miligramos

1 litro = 1000 centimetros clbicos

SUPERFICIE (S) y VOLUMEN (V)

B = Area de la base
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